
Plusrechnen tot 50 000

Aufgabe 1

1. 16 559 + 5 819 =   

2. 19 559 + 18 169 =   

3. 22 316 + 12 678 =   

4. 23 821 + 19 207 =   

5. 11 485 + 10 627 =   

6. 13 974 + 6 013 =   

7. 20 295 + 18 307 =   

8. 15 339 + 7 574 =   

9. 20 007 + 18 914 =   

10. 24 447 + 22 299 =   

Aufgabe 2

1. 15 269 + 6 698 =   

2. 7 463 + 5 036 =   

3. 11 319 + 8 707 =   

4. 22 427 + 16 895 =   

5. 20 847 + 11 303 =   

6. 11 364 + 5 764 =   

7. 16 942 + 14 023 =   

8. 22 191 + 9 272 =   

9. 19 903 + 6 209 =   

10. 22 157 + 15 482 =   

Aufgabe 3

1. 7 478 + 7 335 =   

2. 9 732 + 6 003 =   

3. 22 573 + 13 376 =   

4. 7 701 + 5 472 =   

5. 16 904 + 14 546 =   

6. 9 648 + 8 450 =   

7. 9 971 + 6 734 =   

8. 18 657 + 6 614 =   

9. 8 590 + 6 806 =   

10. 22 911 + 12 372 =   

Aufgabe 4

1. 18 474 + 14 729 =   

2. 18 577 + 10 960 =   

3. 24 634 + 19 176 =   

4. 8 643 + 8 315 =   

5. 14 548 + 13 222 =   

6. 20 542 + 8 436 =   

7. 20 541 + 12 536 =   

8. 24 163 + 12 592 =   

9. 17 288 + 11 184 =   

10. 14 293 + 11 911 =   
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Plusrechnen tot 50 000
| ANTWORTEN

Aufgabe 1

1. 16 559 + 5 819 =  22 378

2. 19 559 + 18 169 =  37 728

3. 22 316 + 12 678 =  34 994

4. 23 821 + 19 207 =  43 028

5. 11 485 + 10 627 =  22 112

6. 13 974 + 6 013 =  19 987

7. 20 295 + 18 307 =  38 602

8. 15 339 + 7 574 =  22 913

9. 20 007 + 18 914 =  38 921

10. 24 447 + 22 299 =  46 746

Aufgabe 2

1. 15 269 + 6 698 =  21 967

2. 7 463 + 5 036 =  12 499

3. 11 319 + 8 707 =  20 026

4. 22 427 + 16 895 =  39 322

5. 20 847 + 11 303 =  32 150

6. 11 364 + 5 764 =  17 128

7. 16 942 + 14 023 =  30 965

8. 22 191 + 9 272 =  31 463

9. 19 903 + 6 209 =  26 112

10. 22 157 + 15 482 =  37 639

Aufgabe 3

1. 7 478 + 7 335 =  14 813

2. 9 732 + 6 003 =  15 735

3. 22 573 + 13 376 =  35 949

4. 7 701 + 5 472 =  13 173

5. 16 904 + 14 546 =  31 450

6. 9 648 + 8 450 =  18 098

7. 9 971 + 6 734 =  16 705

8. 18 657 + 6 614 =  25 271

9. 8 590 + 6 806 =  15 396

10. 22 911 + 12 372 =  35 283

Aufgabe 4

1. 18 474 + 14 729 =  33 203

2. 18 577 + 10 960 =  29 537

3. 24 634 + 19 176 =  43 810

4. 8 643 + 8 315 =  16 958

5. 14 548 + 13 222 =  27 770

6. 20 542 + 8 436 =  28 978

7. 20 541 + 12 536 =  33 077

8. 24 163 + 12 592 =  36 755

9. 17 288 + 11 184 =  28 472

10. 14 293 + 11 911 =  26 204
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